

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933 TEL: 6256 3561 FAX: 6256 4315 Reg. No: 199607198R GST Reg. No. 19-9607198-R

ADJUSTMENT ON REPAIR COST FOR VEHICLE NO SNT 427G

	REPLACEMENT OF PARTS				
Qty	Description of Parts	Condition	Workshop Estimate (\$)	Our Adjusted (\$)	
1	TAILGATE ASSY	DISTORTED	\$3,577.60	\$2,550.00	
1	TAILGATE BADGE	NECESSARY	\$145.60	\$145.60	
1	TAILGATE EMBLEM	NECESSARY	\$95.60	\$95.60	
1	TAILGATE HYBRID SYNERGY EMBLEM	NECESSARY	\$135.60	\$135.60	
1	TAILGATE CENTRE GARNISH	CRACKED	\$1,156.80	\$1,156.80	
1	SET TAILGATE CENTRE GARNISH CLIPS	NECESSARY	\$60.00	\$20.00	
1	TAILGATE OPENER SWITCH	NOT NECESSARY	\$456.80	\$0.00	
1	TAILGATE WINDSCREEN INNER SEAL	NECESSARY	\$243.20	\$243.20	
1	SET TAILGATE WINDSCREEN MOULDING	NECESSARY	\$312.70	\$312.70	
2	TAILGATE SIDE STOPPER (MALE) @\$98.00	NOT NECESSARY	\$196.00	\$0.00	
2	TAILGATE SIDE STOPPER (FEMALE) @\$145.00	NOT NECESSARY	\$290.00	\$0.00	
1	TAILGATE POCKET HANDLE	DEFORMED	\$87.00	\$87.00	
1	TAILGATE INNER TRIM	DEFORMED	\$1,633.50	\$886.00	
1	TAILGATE INNER TRIM COVER CENTRE	NOT NECESSARY	\$243.20	\$0.00	
2	TAILGATE INNER TRIM SIDE @\$231.20	NOT NECESSARY	\$462.40	\$0.00	
1	SET TAILGATE INNER TRIM CLIPS	NECESSARY	\$40.00	\$30.00	
1	TAILGATE INNER LOCK	JAMMED	\$575.30	\$451.00	
1	TAILGATE LOCK CATCH	NOT NECESSARY	\$78.60	\$0.00	
1	TAILGATE WEATHERSTRIP	CUT	\$386.60	\$386.60	
1	TAILGATE MOTOR	NOT NECESSARY	\$2,687.54	\$0.00	
2	TAILGATE HINGES @\$245.60	NOT NECESSARY	\$491.20	\$0.00	
1	REAR BUMPER (JAPAN MODEL WITH PAINT)	DISTORTED	\$2,576.20	\$1,280.00	
2	REAR BUMPER SIDE RETAINERS @\$99.20	NOT NECESSARY	\$198.40	\$0.00	
2	REAR BUMPER REFLECTOR LAMPS @\$165.20	СИТ	\$330.40	\$170.00	
1	REAR BUMPER TOWING COVER	DEFORMED	\$76.00	\$76.00	
1	SET REAR BUMPER CLIPS	NECESSARY	\$50.00	\$30.00	
2	REAR BUMPER SIDE LOWER COVER @\$167.20	NOT NECESSARY	\$334.40	\$0.00	
4	REAR BUMPER REVERSE SENSOR @\$398.00	DAMAGED (2PCS ONLY)	\$1,592.00	\$500.00	
4	REAR BUMPER REVERSE SENSOR HOLDER @\$68.00	NECESSARY (2PCS ONLY)	\$272.00	\$50.00	
1	REAR BUMPER REVERSE SENSOR WIRE HARNESS	SNAPPED	\$867.20	\$425.00	



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933 TEL: 6256 3561 FAX: 6256 4315 Reg. No: 199607198R GST Reg. No. 19-9607198-R

	REPLACEMENT OF PARTS			
Qty	Description of Parts	Condition	Workshop Estimate (\$)	Our Adjusted (\$)
2	REAR CORNER BUMPERS @\$566.20	DEFORMED	\$1,132.40	\$650.00
2	REAR CORNER BUMPER RETAINER @\$78.90	NOT NECESSARY	\$157.80	\$0.00
1	REAR KEY ANTENNA SENSOR	DAMAGED	\$274.80	\$165.00
2	TAILLAMPS ASSY @\$1392.90	CRACKED	\$2,785.80	\$2,186.00
2	TAILLAMPS SEALER @\$67.00	NOT NECESSARY	\$134.00	\$0.00
1	SET TAILLAMP CLIPS	NOT NECESSARY	\$30.00	\$0.00
2	TAILLAMP PANEL @\$577.20	DENTED	\$1,154.40	\$1,154.40
1	END PANEL ASSY	DISTORTED	\$1,455.80	\$995.00
1	END PANEL TOP TRIM	DISTORTED	\$387.50	\$387.50
1	SET END PANEL TOP TRIM CLIPS	NECESSARY	\$30.00	\$20.00
1	END PANEL INNER	NOT NECESSARY	\$1,122.50	\$0.00
2	SIDE PANEL @\$683.60	NOT NECESSARY	\$1,367.20	\$0.00
1	SET TOP BOARD	DISTORTED	\$1,672.50	\$1,065.00
1	SET REAR FLOOR PANEL	TO REPAIR SEE LABOUR	\$1,455.50	\$0.00
1	SET REAR FLOOR PANEL MAT	TORN	\$980.00	\$685.00
1	SET REAR FLOOR PANEL MAT SILENCER	NOT NECESSARY	\$201.40	\$0.00
2	REAR REINFORCEMENT DAMPER @\$195.30	NOT NECESSARY	\$390.60	\$0.00
1	WIRE HARNESS	NOT NECESSARY	\$986.20	\$0.00
2	REAR FENDER @\$2158.90	TO REPAIR SEE LABOUR	\$4,317.80	\$0.00
2	REAR FENDER INNER TRIM @\$972.50	DEFORMED	\$1,945.00	\$1,945.00
2	SET REAR FENDER INNER TRIM CLIPS	NECESSARY	\$60.00	\$60.00
2	SET REAR FENDER TOP GARNISH @\$852.30	NOT NECESSARY	\$1,704.60	\$0.00
1	SET REAR FENDER TOP GARNISH CLIPS	NOT NECESSARY	\$40.00	\$0.00
1	REAR AIR VENT LH	DEFORMED	\$197.50	\$197.50
1	REAR FENDER INNER COWL	NOT NECESSARY	\$165.80	\$0.00
1	REAR FENDER INNER SHIELD	NOT NECESSARY	\$165.80	\$0.00
1	SET REAR FENDER INNER SHIELD CLIPS	NOT NECESSARY	\$30.00	\$0.00
	LESS 25.00% DISCOUNT		(\$10,999.19)	(\$4,635.38)
			\$32,997.55	\$13,906.12



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933 TEL: 6256 3561 FAX: 6256 4315 Reg. No: 199607198R GST Reg. No. 19-9607198-R

Special Nett				
Qty	Description of Parts	Condition	Workshop Estimate (\$)	Our Adjusted (\$)
1	SET REVERSE CAMERA (SN)	DAMAGED	\$450.00	\$450.00
1	REAR WINDSCREEN SEALANT (SN)	NECESSARY	\$60.00	\$30.00
1	SET BODY PANEL JOINT SEALANT (SN)	NECESSARY	\$120.00	\$60.00
1	REAR NUMBER PLATE WITH COVER (SN)	DEFORMED	\$70.00	\$50.00
			\$700.00	\$590.00

Labour

Labour			
Description of Parts	Condition	Workshop Estimate (\$)	Our Adjusted (\$)
PANEL BEATING. INCLUSIVE OF THE REPAIR 1 SET REAR FLOOR PANEL AND REAR FENDER		\$3,000.00	\$1,000.00
SPRAY PAINTING		\$2,400.00	\$1,000.00
CHECK WIRING ON TAILLAMP		\$180.00	\$30.00
ANTI RUST		\$120.00	\$80.00
CONDUCT WATER LEAK TEST	NOT NECESSARY	\$80.00	\$0.00
REMOVE AND INSTALL REAR WINDSCREEN		\$180.00	\$120.00
REMOVE AND INSTALL TAILGATE PARTS		\$250.00	\$80.00
REMOVE AND INSTALL INTERIOR UPHOLSTERY		\$150.00	\$80.00
REMOVE AND INSTALL REVERSE SENSOR		\$120.00	\$50.00
REMOVE AND INSTALL REVERSE CAMERA		\$150.00	\$50.00
TO PROGRAM ADAS RESET	NOT NECESSARY	\$350.00	\$0.00
		\$6,980.00	\$2,490.00
GRAND TOTAL		\$40,677.55	\$16,986.12
RECOMMENDED COST OF LUMP SUM REPAIRS (TO ITS PRE-ACCIDENT CONDITION) (CONFIRMED)			\$13,600.00

TOTAL FOR SPARE PARTS: \$ 33,697.55 \$ 14,496.12
TOTAL FOR LABOUR: \$ 6,980.00 \$ 2,490.00
TOTAL REPAIR COST: \$ 40,677.55 \$ 16,986.12

Report Ref No: CS/INC24090440/Aqh3e2

LWP

ADRIAN LING WAI PING



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933 TEL: 6256 3561 FAX: 6256 4315 Reg. No: 199607198R GST Reg. No. 19-9607198-R

DISCLAIMER OF LIABILITY TO THIRD PARTIES:- This Report is made solely for the use and benefit of the Client named on the front page of this Report.

No liability of reposibility whatsoever, in contact or tort, is accepted to any third party who may reply on the Report wholly or in part. Any third party acting or replying on this Report, in whole or in part, does so at his or her own risk.